X
N

0—3

<o @> (rad)
o
=
a1

T T T T

> o
+
e
$
. &
=%
> s
i
o
T

1

-2 -1 0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

x107°

C .

- PR § S 1A A AT AT Y A o R I LAY AU
Foo oy flb oo byl fol il ol
15_. e -4 - o1l 2l 228

E B i H H

-2 -1 0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO
—— DQM_V0001_R000000001__Global__mkFitbase2_ RECO

100r

< 00, > (M)

E— ++*+ NW-".-‘- %, b- ﬂ"’ﬂ+*+

Eu b a0 | i p g | g g |l
1;9 - -TH-{-1FR v L ] -2 p L {2
=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N o

] ] o ] ]
i g 5
<+ AT 15149 [ $1 44 Lotk -¢[REgt-H- 11

o 1 2 3
TP n (PCA to beamline)

w TTrT T rrrr TITT

. r s
|
LN

—~

100

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


